SH24E

g BEmO)— e - IUREXRF (EEEKRLSE) OEFEEOIKRICET HFH

1 EHUTE—REEYOEERVEE
LIRBEAIK | HWREE BiAIRE | BKEEY |Exs45
(t) (t) (t) (t) (t)
41 2.01 34.78 9.46 46.25
58 0.77 44.45 35.01 80.23
618 1.55 41.21 13.89 56.65
78 1.64 40.07 5.75 47.46
8H 1.41 34.18 1.38 36.97
98 0.78 26.01 29212 318.91
108 0.49 33.65 3.97 38.11
118 0.77 35.31 5.42 415
128 1.18 40.11 0.87 42.16
18 0.74 26.26 1.12 28.12
2R 0.58 2257 1.82 24.97
38 1.64 46.31 6.25 54.2
&5 13.56 424.91 377.06 815.53
2 MBEOAR _ _ _ _ _ _ _ _ _ _ _ _
47 58 68 78 8H 98 108 118 128 18 28 3H
e RRE 158 13H 17H 8H 218 23H 14H 18H 10H 13H 10H 17H
HROME (@) O O (@) (@) O O ] O ] @] O
BEZEOBETIETH HE#xHEL-A - - - - - - - - - - - -
AEOONIFEDOHE BEORE - - - - - - - - - - - -
KT RRE 158 13H 17H 8H 218 23H 14H 18H 10H 13H 10H 17H
AROME (@) O O (@) (@) O O ] O ] @] O
EASDEDVETSEETh  [EEEHECEA - - = = = = = = = = = =
AEOONTIFEDOHE BEORE - - - - - - - - - - - -
G RRE 158 13H 178 8H 218 23H 14H 18H 10H 13H 10H 17H
AROE (@) O O (@) O O O ] O ] (@) ]
MEMDOBERTIETAN HEF®EL-A = = = = = = = = = - - -
EHLN-BADKE BEORE - - - - - - - - - - - -
BKEEDAMEHEHEED EELE 158 138 178 8H 218 23H 148 18H 10H 138 10H 178
=¥ AROE (@) ] O (@) O O O ] O ] O ]
PEEBEOKRICEENR |[HEEZELEA = = = = = = = = = = - -
HoN-IHEDIEE BEONE - - - - - - - - - - - -
=K AR ES RRE 18 68 3H 18 5H 2H 7H 48 2H 68 3H 3H
AROE (@) ] O (@) (@) O O ] O ] O ]
ELE 8H 1380 108 8H 128 98 148 118 108 138 108 108
AROE (@) ] O (@) O O O ] O ] O O
ELE 158 208 178 158 218 168 218 18H 168 208 178 178
AROE (@) ] O (@) O O O ] O ] O O
ELE 228 278 24H 22H 268 23H 28H 25H 23H 278 248 248
AROE (@) ] O (@) O O O ] O ] O O
ELE 29H = = 29H - 308 - - 308 - - =
HROFE (@) - - (@) - O - - O - - -
RHKMERFEOMEEICRE |EEE#ECA = = = = = = = = = = - -
RABOLNIIBEDKE  [HEONE ~ —~ — — = = - - - = -
X TOIRERAL X IEE®HY
3 BRADENAE
BIEEAR RIETAE BURREE
BERRIL IS FRE29538318 72,600 m 39,100 m




4 KERE

(D BURIK
REEBLA 48158 | 5H130 |681/H]/B1508] 8H21H |9A238] 1081460 | 114188 | 12A108 TH13H 2R 106 3A17H
R BT HEKEE(E BREHE REHE | RERE | RERE| RERE | BERE BREHE BRERR BREHE BRERR BREHR BEHE
KFEAFVIRE (ph) = 5.8~8.6 7.2 7.0 7.3 7.0 7.3 7.2 7.1 7.2 7.3 7.3 7.2 7.1
FHEMEE (SS) me/2 60LL T [Ex: 2 Bl S 2 1 1%kiE 2 1 2 ES ES
LZHEREESE (COD) mg/4 9LUT 29 3.9 28 23 5.9 7.6 29 3.8 46 3.8 24 3.3
EYLFHEEREESE (BOD) mg/4 60LLF 0.9 1.4 13 1.1 14 19 0.6 0.55K % 1.9 24 05 1
TBiE14> (CQ-) mg/4 - 260 280 260 200 220 230 220 220 230 270 300 260
PN 18/ cnit 300050 F 0 0 0 0 0 0 0 0 0 0 0 0
ZREHE mg/4 1204 F 15 12 7.7 6.5 10 5.2 7.5 1.3 5.0 8.3 11 11
HEFE me/Q 16LLTF 0.04 0.01k % - - 0.13 - - - _ - — -
TILFILKER IEEY mg/Q BHShENIE = - - = 0.0005K j# = = - = - _ _
IKERRUT I IKERZ DD K mg/Q 0.005LLF - - - - 0.0005% i - - - - - _ _
IIARUVZDMIEEY mg/Q 0.03LLF = = = = 0.003K 7 = = - = = _ _
RUVZDIEEY mg/2 01T - - - - 0.005% i - - - - - - -
ARIBIEED mg/2 0.3LLTF = = = — 01%k% — _ - - — _ -
AEYOLIEEY mg/2 01T - - - - 0.02k - - - - - _ -
MRERRVZDEEY mg/Q 0.05LLF = = = = 0.005K 57 = = - B = - _
TR mg/Q 03T - - - - 0.1K5% - - - - _ _ _
RUEILETTI)L (PCB) mg/Q 0.003LL T = = = = 0.0005k = = - B = - _
r)yaoTFLY mg/2 01T - - - - 0.001K % - - - - _ Z _
FhSoOAIFLY mg/2 01LLF = = - - 0.0005 i = = - - - - -
ooynoiay mg/2 02LLF - - - - 0.002K % - - - - _ Z _
miE b RE mg/2 0.02LLF = = - - Joooo2xkiE| - = - - - - -
1,2-o/00I14Y me/2 0.04LLF - - - - 0.0004 5 - - - _ _ _ _
1,1->/aRIFLy mg/Q 10T - - - - 0.0025% i = - - B - = =
LR-12—-oHOaTFLy mg/Q 04LLTF - - - - 0.0045 5% - - - - - _ —
11-kyoRaTay mg/2 3UT = = - - |oocoosxm| - = - - - - -
112-k)Honxs> me/Q 0.06 LA F - - - - |ooooekiEm| - - - - - - -
13->/an7axky mg/Q 002LLF - - - - 0.00025 i - B = = Z Z _
FIL mg/0 0.06LLTF - - - - Joooosxkim| - - - - - - -
DA mg/2 0,034 F = - - - Jooooski@| - - - = = = -
FARUANLT me/Q 0.20F - - - - 0.0025k it - - - - - - -
A mg/2 01U F - - - - 0.001k % - - - = = = -
TLURUZDIEEY mg/4 01T - - - - 0.002k 5% - - - _ Z _
14-SFF 5> mg/2 05U - - - - 0.0055% i - - - - - - -
IE5RRUVZDILEY mg/4 10LLF - - - - 14 - - - - _ Z _
SORRUVZEDILEY mg/Q SLLT - = = - 0,08k % _ _ 7 Z Z _ Z
FTUEZT TUEZTILED, R Z _
] 2002F - - - - 1 - - - - - - -
JILRILAFHY SIkiHEE mg/2 5L - - - = 05k = = _ _ _ _ _
BEMESHE | BEDHEE me/2 30B1F = - - Z 055 Z - - - = = -
Jx/—)VEERE mg/2 5LLF - - - - 001k - - _ _ _ Z _
tEEE mg/2 3T = = = _ 00155 _ _ _ _ _ _ _
BiNERE me/2 2LF - - - - 001k - - - - _ Z
BENBEERE mg/2 10LLTF = = = _ 016 _ _ _ _ _ _ _
BEIVAVERE mg/9 10LLF - - - - 0.01K % - - - - - - -
JOLERE mg/Q 2L = = = = 002K % = _ _ _ — _ _
FAFFI U4 pg-TEQ/L 10 AT - - - - - - 0.00089 - - -

MAEAF XD EIZDONTIE, 12898 K




(2) #TKCERR)

AHERLEAR _ 48158 58138 |68178]78158] 88218 |98238]| 108148 118188 128108 18138 28108 3178 |
HEEE EX5 HE(E BERE rERE |kt | veei| R | serg| BE#g BREHE BRERE BREHE BERE BEHER
7 ILEILIKER (A—Hg) mg/L BREShGNCE = - - - 0.0005K i - - - - - - -
#7KER (T—Hg) mg/L 0.0005 LI F - - - - 0.00053 i - - - - - - -
AkIA(Cd) mg/L 0.003L4F - - - - 0.0003 i - - - - - - -
1 (Pb) mg/L 001 LUF - - - - 0.001K % - - - - - - -
Nffiz0.L (Cr6+) mg/L 005 LT = = - - 0.005k i = - - - - - -
At (As) mg/L 001 LUF - - - - 0.001K % - - - - - - -
£ 7> (CN) mg/L BRHEShENZE = - - - 0.01K % - - - - - - =
RUEILETZ=)L (PCB) mg/L BHEShENIE - - - - 0.0005K # - - - - - - -
rJHOOTFLY meg/L 001 LIF - - - - 0.001FK - - - - - - -
FhSOAIFLY mg/L 001 LUF - - - - 0.00053k i - - - - - - -
SHOOARY mg/L 002 LLIF - - - - 0,002 - - - - - - -
Mg b kR mg/L 0.002 LI F - - - - 0.0002 i - - - - - - -
12->yn0x4y meg/L 0.004 LI'F - - - - 0.0004K & - - - - - - -
11->/00IFLy mg/L 0.1 UTFT - - - - 0.002K i - - - - - - -
12->/an0TFLy mg/L 0.04 UTF = = = = 0.004k 5% - - - - - - -
1.1,1-k)yoaTsy mg/L 1UF - - - - 0.00053 i - - - - - - -
11,2-k)/ooxTsy mg/L 0.006 LT = = = = 0.00063F i - - - - - - -
1,3->/n07oRky mg/L 0.002 LIF - - - - 0.0002K % - - - - - - -
FoTL mg/L 0.006 LT = = = = 0.00063F i - - - - - - -
P mg/L 0.003 LI F - - - - 0.0003 % - - - - - - -
FARAILT mg/L 0.02 LIF = = = = 0.002k i - - - - - - -
¥y mg/L 001 LUF - - - - 0.001K % - - - - - - -
v mg/L 0.01 UTF = = = = 0.002k i - - - - - - -
14-OAF Y mg/L 0.05 T - - - - 0.0055K i - - - - - - -
s LD me/L 10 LUF - - - - 04 - - - - - - .
5% mg/L 1 UTF - - - - 0.01K - - - - - - -
Aok mg/L 08 LT - - - - 0.08k % - - - - - - -
sAaOTFLYy mg/L 0.002 LT - - - - 0.00025k i - - - - - - -
BYVAHUEENI LHER mg/L 10LLF = = = - 1.9 - - - - - - -
BiemAA mg/L - 11 10 7 7 7 7 7 6 8 7
FAFF 5 pg-TEQ/L 1 LT = = = = = - - - 0.064 - - —

XEAT T BT OLCIE. 12898 K



(3) #TIK(TFiR)

AHERLEAR _ 48158 58138 |68178|78158] 88218 |9823H 1059H 118188 128118 18158 28108 3178 |
HEEE B HAEfE BERE rat |Rakz| e | Bast | RErg]| Ra#E BREHE BRERE BREHE BE#E BEHER
7 ILEILIKER (A—Hg) mg/L BREShGNCE = - - - 0.0005K i - - - - - - -
#7KER (T—Hg) mg/L 0.0005 LA F - - - - 0.00055 i - - - - - - -
AkIA(Cd) mg/L 0.003L4F - - - - 0.0003 i - - - = = = =
1 (Pb) mg/L 0.01 UTF - - - - 0.001 - - - - - - -
Nffiz0.L (Cr6+) mg/L 005 LT = = - - 0.005k i - - - - - - -
At (As) mg/L 0.01 UTF - - - - 0.001 K55 - - - - - - -
£ 7> (CN) mg/L BRHEShENZE = - - - 0.1K % - - - = = = =
RUEILETZ=)L (PCB) mg/L BHEShENIE - - - - 0.0005K # - - - - - - -
rJHOOTFLY meg/L 0.01 UUF - - - - 0.001FK - - - - - - =
FhSOAIFLY mg/L 0.01 UTF - - - - 0.00055 57 - - - - - - -
BYEIEEED] mg/L 002 LLIF - - - - 0,002 - - - - - - -
Mg b kR mg/L 0.002 LI F - - - - 0.00025 57 - - - - - - -
1,2-2/aaI8> mg/L 0.004 LR - = = - Jooooski| - = = = = = =
11->/anIFLy meg/L 01 UTF - - - - 0.002:K - - - - - - -
1,2-2Y0RTFLY mg/L 004 LUF - - - - 0.0045K i - - - - - - -
11,1-k)yOaTAY mg/L 1T - - - - 0.00055% i - - - - - - -
112-k)ynoxs> mg/L 0.006 LLF = = = - |ooooekim| - - - - - - -
13->9/007ARY mg/L 0.002 LT - - - - 0.0002k i - - - - - - -
FOIL mg/L 0.006 T - - - - |ooooekim| - - - - - - -
DA mg/L 0003 UTF - - - - |ooooskiE| - - - - - - -
FANDAILT me/L 002 IR = - - = 0.0025K 5 - - - - - - -
oty mg/L 0.01 LLF - - - - 0.001K i - - - - - - -
LY mg/L 001 UF - - - - 0.0023K i - - - - - - -
14-OF %42 mg/L 005 UTF - - - - 0.0055K - - - - - - -
s LD me/L 10 LUF - - - - 04 - - - - - - .
5% mg/L 1 UTF - - - - 0.11 - - - - - - -
S0k mg/L 08 LIF = = = = 0.11 - - - - = = =
HO0nIFLY mg/L 0.002 LT - - - - 0.00025k i - - - - - - -
BYVAHUEENI LHER mg/L 10LLF = = = = 3.9 - - - - - = =
BiemAA mg/L - 46 46 32 28 33 34 33 32 27 25 26 27
FAFF 5 pg-TEQ/L 1 LT = = = = = - - - 0.063 - - —

XEAT T BT OLCIE. 12898 K



